L_rDLa_uo );Y;k Lol uSaidl wl)lgo

Wl uSadll ol lgo

axlouw a.?lAALo_g U"CL’)-” JM' OR>

bl giniall oz Olas] wazgl :lasdl canwsT (10)
oo o azlizl Lo JS 1edlas elrall SISl 8 (pumoll
t ¥ ozl Ll JSuidl 9 slazall lgraaz JlgbYI

V=16x5x11 x5=4400m"

axzoly 1oloy] a candy 3l Uasdl oyl
09l gukos sl g po 822l o8 Jlasiwl Olay] &S
b dxall &l
V=16x5x11=2880m’

3 aclai)lg wliamindl adS slasl oslaly (72 cm® aox> b, osinio o w (11)
wilz] ) uly guinioll @iSaoll o yellg Jglall oud gra> 2>l .cm

V=Ixwx3=72

Ixw=24
Lgzsaz 24 52al Jolge gyl o6 s
2,12
24, 1
3, 8
4,06

o7 lgio 1/2



walaia L%

Gslall @alsill sio ‘L?)\;" Wl Sl ol lge
l w
24 cm 1 cm
1cm 24 cm
12 cm 2cm
2 cm 12 cm
3cm 8 cm
8cm 3 cm
4 cm 6 cm
6 cm 4 cm
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